


i EE hm? 0.30 0 0
A # i g AN hm? / 0 0
Il Bt e Ak m 260 0 250
Il Bt e Ak m / 0 180
Il B 5 A e B 3T 7 JE 1 0 1
BEAE & m? 2000 0 0
HAWES m? / 0 6200
kL#E 7 om’ 0.12 0 0
o T A 4 £+EE 7 m’ 0.12 0 0
o kg hm? 0.20 0 0
o HE 41 1 I E R hm? 0.20 0 0
- MEAE R m? 800 0 0
N m? / 0 0
*)+3BE 7 m? 0.15 0 0.047
TR *1+HE B m? 0.15 0 0.047
IR I EE hm? 0.50 0 0.62
3 Il Bt Ak m 540 0 360
T B & Ao m? 3000 0 1200
X . HAWE S m? / 0 1600
PR IIE A JE 6 0 6
WK+ EIE m’ 156 0 0
S m? / 0 360
e IR +iEb m? 0.68 0 0.68
WE | et B A B m? / 0 1600
AR 2 m? / 0 300
PR KM E (mm) 135.2
e RA 24 /MEFER (mm) 145
R ANE (m/s) 32
TERERE (0) 5.70
AKEFKEEEH x
45 FLELS EWHER B - S B RFEE, &
AL AP B RER.






